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Directions: b) nearing grocery store to
Read the following sentences and find where, there is c) buy biscuits as his parents were expecting guests.
any error in any part, then conclude the correct d) No error
answer:
7) (a) Many a /(b) boys are /(c) absent today /(d) no
1) (a) The police arrived and discovered /(b) a large error.
number of hoarded sugar/(c) in his shop. /(d) No error a) Many a b) boys are
a) The police arrived and discovered c) absent today d) No error
b) a large number of hoarded sugar
c) in his shop. 8) (a)  am more lonelier/(b) here than/(c) | was in the
d) No error USA./(d) No error.
a) | am more lonelier
2) (a) He ran so fastly /(b) that he reached /(c) the b) here than
destination in just two minutes. /(d) No error. c) I was in the USA
a) He ran so fastly d) No error
b) that he reached
c) the destination in just two minutes 9) (a) Can you tell me'how /(b) many eggs and /(c) milk
d) No error he has brought /(d) No error
a) Canyou tell me how
3) (a) The Railways have made /(b) crossing the.tracks b) many eggs and
/(c) a punished offence. /(d) No error c) milk he has brought
a) The Railways have made d) No error
b) crossing the tracks
c) a punished offence 10).(a)The faster he completes 7(b) the.workigiven to
d) No error /(c)him, the largest will'be his‘profit. /(d) No error.
a) The faster he completes
4) (a) Ram is as good, /(b) if not better than /(c) b) the work given to
they./(d) No error c) him, the largest will be his profit
a) Ram is as good, d) No error
b) if not better than
c) they 11) She does not have (a)/some money to buy (b)f
d) No error new refrigerator (c)/so she is worried. (d)
a) She does not have
5) (a) Mumbai is /(b) further from /(c) Delhi than /(d) b) some money to buy
Patna. (e) No error c) a new refrigerator
a) Mumbaiis  b) further from  c) Delhi than d) so she is worried
d) Patna. e) No error
12) (a) | will buy /(b) the book when /(c) the revisp
6) (a) Krishna ran to the /(b) nearing grocery store to edition will come /(d) no error.
/(c) buy biscuits as his parents were expecting guests. a) | will buy
/(d) No error b) the book when
a) Krishna ran to the c) the revise edition will come Pafe| 1
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d) No error

13) A lots of books (a)/on English grammar are
(b)/available with me but (c)/this one is the best. (d)
a) A lots of books

b) on English grammar are

c) available with me but

d) this one is the best

14) (a) A few word of /(b) gratitude are enough /(c) to
express your /(d) feelings sincerely. /(e) No error.

a) A few word of

b) gratitude are enough

c) to express your / (d) feelings sincerely.

d) No error

15) (a) These sort of men /(b) attain success by hook or
by crook./(c) so they do not deserve any applause. (d)
No error

a) These sort of men

b) attain success by hook or by crook

c) so they do not deserve any applause.

d) No error

16) (a) He.is wiser./(b) enough-to/(c) understand your
trick /(d) no error.

a) He is wiser

b) enough to

c¢) understand your trick

d) No error

17) Ram is junior than (a) / Shyam and (b)/Ram is older
(c)/than Ganesh. (d)
a) is junior than
c) Ram is older

b) Shyam and
d) than Ganesh.

18) (a) | trembled when | saw /(b) a sharp long knife /(c)
in his hand. /(d) No error

a) | trembled when | saw

b) a sharp long knife

c) in his hand.

d) No error

19) (a) I like reading /(b) more than /(c) to play games.
/(d) No error

a) | like reading
c) to play games.

b) more than
d) No error

20) (a) He feels his troubles /(b) as much or /(c) even
more than they. /(d) No error

a) He feels his troubles

b) as much or

c) even more than they.

d) No error

21) (a) You can trust /(b) this channel/(c) for the last
news of this hour. (d) No error

a) You can trust

b) this channel

c) for the last news of this hour.

d) No error

22) (a) Having been found /(b) guilty of the theft /(c)
Sunny-was sentenced to five year’s imprisonment. /(d)
No error

a) Having been found

b) guilty of the theft

c¢) Sunny was sentenced to five year’s imprisonment.
d) No error

23) It is well know (a)/that Mrs. Indira Gandhi (b)/was
the first statesman (c)/of her time. (d)

a) It is well know

b) that Mrs. Indira Gandhi

c) was the first statesman

d) of her time.

24) The militants (a)/entered the palace (b)/from the
utmost gate (c)/with guns hidden in their clothes. (d)
a) The militants
b) entered the palace
c) from the utmost gate
d) with guns hidden in their clothes.
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25) (a) The number of applications has risen /(b) this b) the weather
year by /(c) as many as 50%. /(d) No error c) is getting cold and colder
a) The number of applications has risen d) No error
b) this year by
c) as many as 50%. 32) (a) Although his speech /(b) was not very clearjy
d) No error everyone understood /(c) the underlying meaning. /(d)
No error
26) Everyone was surprised to note (a)/that Rahim a) Although his speech
married a girl (b)/who was more beautiful and more b) was not very clearly everyone understood
tall (c)/than he. (d) c) the underlying meaning.
a) Everyone was surprised to note d) No error
b) that Rahim married a girl
c) who was more beautiful and more tall 33) (a) He is comparatively /(b) weaker /(c) in maths
d) than he /(d) no error.
a) He is comparatively
27) “She can’t sing (a)/much than (b)/four songs at b) weaker
(c)/a stretch”, he informed. (d) c¢) in maths
a) “She can’t sing d) No error
b) much than
c) four songs at 34) There were only two.(a)/warriors but:each and
d) a stretch”, he informed. every (b)/warrior was equal (c)/to six persons. (d)
a) There were only two
28) (a).Honest are/(b) rewarded-/(c) sooner or later b) warriors but each and every
/(d) no error. c) warrior was equal
a) Honest are b) rewarded d) to six persons
c) sooner or later d) No error
35) (a) Everyone agrees that /(b) the Ganga is the
29) (a) The two first to arrive /(b) were the lucky holiest /(c) of all other rivers of India. /(d) No error.
recipients /(c) of a surprise gift. /(d) No error a) Everyone agrees that
a) The two first to arrive b) the Ganga is the holiest
b) were the lucky recipients c) of all other rivers of India.
c) of a surprise gift. d) No error
d) No error
36) Whole the chapter (a)/of this grammar book is full
30) (a) Alms /(b) are given /(c) to the poors. /(d) No of errors (b)/that shows the (c)/carelessness of the
error proof reader. (d)
a) Alms b) are given a) Whole the chapter
c) to the poors. d) No error b) of this grammar book is full of errors
c) that shows the
31) (a) Now-a-days, /(b) the weather /(c) is getting cold d) carelessness of the proof reader
and colder. /(d) No error
a) Now-a-days, Paje | 3
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